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3. Machine Leaming

2 IO H 28

7= PSPSEE
1 X6+t fhE DE 4 20}
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Linear Regression
Random Forest
- Ridge

- Lasso

QA I
-  RMSE (Mean Squard Error)

- Score

142 : HEWE T 394 X|% W
=L RMSE Train_SCORE Val_SCORE
Linear Regression 217.8458 0.7887 0.7675
Random Forest 236.2836 0.9621 0.6097
Ridge 183.1654 0.8215 0.8087
Lasso 180.7804 0.8275 0.8151
3: 4% T PR 5t
= RMSE Train_SCORE Val_SCORE
Linear Regression 173.8274 0.7811 0.7675
Random Forest 210.1943 0.9568 0.6799
Ridge 178.1784 0.8159 0.7856
Lasso 180.5819 0.8204 0.8141
4: W A} Of s 20
T= RMSE Train_SCORE Val_SCORE
Linear Regression 166.8274 0.8235 0.7875
Random Forest 157.1412 0.9621 0.7759
Ridge 177.1784 0.8170 0.7849
Lasso 176.8833 0.8167 0.7856
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B Model 1

flatten input input: [(INone, 15)]
Inputl.ayer output [(None, 15)]
e

flatten input: (MNone, 15)
Flatten output (MNone, 15)
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4. Deep Leaming —Modeling
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Optimizer : SGD
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4. Deep Leaming —Modeling

B Model 2 s0f =
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4. Deep Leaming —Modeling

train_ RMSE | val RMSE | train_MAE val_MAE
Modell 189.2599 156.6007 163.8760 129.3510
model2 170.8627 141.1320 139.8752 114.3767
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